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(a) Find a matrix P that diagonalizes 4 = Ao 1 cv.
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(b) Find A'°.
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Q2. Using divergence theorem, find the outward flux of
E =2xyzd, +x’za, +x’ya,,
for the region defined by 0 <x <2, 1<y <2,-1<z<3.
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Q3.
(@)If f(2) = 2x — x> + 3xy? + iv(x,y) is analytic for any z ,find v(x,y)
and write f'in terms of z.

(b)Find all points when the derivative of f(z) = x? + iyZ2exists and find
f'(2z) whenever it exists.
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Q4.

(a) Find all complex numbers z satisfying the equation In(z) = (m/2)i.
(b)Solve the equation cos z = V2.
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Q5. Evaluate [, Zdz along the contour C, which is right-hand half of the
circle |z| = 2 , oriented counter-clockwise.
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Q6. Use Cauchy’s integral formula to evaluate,

%n. ~ cosz

ey A 2 cosh ,L dz,
Cisthecircle |z +i] = 3.
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Q7. Give two Laurent series for the function f(z) H%l&m: the domains Q8. Evaluate the integral,
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